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1 66 4 544 390 BEE %1—-%30 -71 — — a 154 #Y - HZ8 X2
2 66 4 544 390 BEE %1—-%30 -71 — — Bl 154 #Y - HZEs X2
3 66 4 264 264 BEE %1-%30 -81 — — a 0 Y - HZEs X2
4 66 4 264 198 BEE %1-%30 -12 — - a 66 #Y - HI8 X2
5 66 4 264 198 BEE %1-%30 -5 — — Bl 66 #Y - HZEs X2
6 66 2 130 65 BEE Ei-F&1 0 - - FAT#3 - #Y - HI8 X1
7 66 4 292 219 BEE E1—-%5 3 — — Bl 73 #Y - HZEs X2
8 66 2 66 33 BEE %5—%6 2 — - A #3 - Y - HZEs X1
9 66 2 208 104 BEE E1—-%7 -69 — — a 104 #Y - HZ8 X1
10 66 2 208 104 BEE E1—-%7 -69 — — a 104 #Y - HZ8 X1
11 66 1 — - BEE = - = - - - #Y - HZ8 <
12 66 2 130 65 BEE E1—-%8 -5 — — Bl 65 #Y - HZEs X1
13 IEHERER 66 2 296 148 BEE E1—-%19 2 — — a 148 #Y - HZ8
14 IEHERER 66 2 270 135 BEE E1-%&19 0 - - FAT#3 - #Y - HZ8 X1
15 HE R 66 2 250 125 BEE E1—-%9 2 — — a 125 #Y - HI8
16 HEESR 66 2 114 57 BEE Z9—-%10 -2 - - FAT#3 - #Y - HI8 X1
17 BAESR 66 2 72 36 BEE F10—F 11 -5 - - FAT#3 - #Y - HZ8 X1
18 FERR 66 2 - - BEE = - - - - - #Y - HZ8 <
19 FERR 66 2 - - BEE = - - - - - #Y - HZ8 <
20 FERR 66 2 - - BEE = - - - - - #Y - HI8 <
21 66 1 32 32 BEE Ei1-F&12 -34 - - FAT 1 - #Y BRES HZ8 X1
22 66 1 32 32 BEE Ei1-F&12 -34 — - A1 - Y - Hs %21 X1
23 66 1 — - BEE - - = - - - #Y - HF8 k21 <
24 66 1 — - BEE - - = - - - #Y - HF8 k21 <
25 66 2 394 225 BEE E1—-%15 -209 — — Bl 169 #Y - HZEs
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28 66 2 182 86 BEE E1-%13 -1 — — Bl 96 #Y - HZEs X1
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30 66 2 64 38 BEE Z15—-%16 -35 — — Bl 26 Y - #778,3%26,27
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36 66 2 250 125 BEE %2-%20 -2 — — a] 125 — — — X1
37 66 2 250 86 BEE %2-%20 -2 — — a] 164 — — — X1
38 66 1 - - BEE = - = - - - - - - <
39 66 1 42 42 BEE E2-FER 0 - - A1 - — — — X1
40 66 1 - - BEE = - = - - - - - - <
4 66 1 - - BEE = - = - - - - - - <
42 66 2 144 72 BEE Fo-%21 -12 — — a] 72 — — —
43 66 2 64 32 BEE 21522 -9 — - A #3 - — — — X1
44 66 2 64 32 BEE 21522 -9 — - A #3 - — — — X1
45 FERR 66 1 - - RER - - - - - - - - - <o
46 SR 66 2 394 197 AEE Z19-%24 -9 - - = 197 - - -
47 SR 66 2 394 197 BEE Z19-%24 -8 - - = 197 - - -
48 SR 66 2 394 197 AEE Z19-%24 -8 - - = 197 - - -
49 LBXER 66 2 66 33 RER FE19—%23 -2 - - A 33 - - - X1
50 FERR 66 2 - - RER - - - - - - - - - <o
51 FERR 66 2 - - RER - - - - - - - - - <o
52 SOBER 66 2 82 “ RER #24—%25 1 - - FE#3 - - - - X1
53 FERR 66 1 - - RER - - - - - - - - - <o
54 FERR 66 2 - - RER - - - - - - - - - <o
55 REFER 66 2 248 124 RER F19—%26 -123 - - A 124 - - -
56 REFER 66 2 248 124 RER 19726 -123 - - A 124 - - -
57 REPRAER 66 2 206 103 RER #26—F)I1%29 -40 - - A 103 - - - X1
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58 REF AR 66 2 206 103 BEE F26—F)I1ZE29 -9 — — Bl 103 — — — X1
59 FERR 66 1 - = BEE = - - - - - - - - <
60 LiRZR 66 2 130 65 BEE 226227 -31 — — Bl 65 — — — X1
61 BRI/ B #R 66 2 380 190 BEE %3—%30 -54 — — Bl 190 #Y - EZi10
62 TR/ B #R 66 2 394 197 BEE %3—%30 -54 — — Bl 197 #Y - EZi10
63 BRI/ B #R 66 2 394 197 BEE %3—%30 -41 — — Bl 197 #Y - EZi10
64 TR/ B #R 66 2 394 197 BEE %E3—-%30 0 — - FAT#3 - #Y - EZ10
65 FERR 66 2 - - BEgE - - - - - - #Y - Exaly <
66 FEXHR 66 2 182 86 BEE %3—%28 -14 — — Bl 96 #Y - EZ10 X1
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80 66 1 - - BEgE - - = - - - Y - HIE10E71 <
81 66 1 - - BEgE - - = - - - Y - HIE10E71 <
82 66 1 — = BEE = - = - - - Y - HIE10E71 <
83 66 2 38 19 BEE %E3-%34 -2 — - A #3 - Y - EZ10 X1
84 66 2 102 67 BEE 25312536 -110 — — a 0 #Y RHE HIE10E71
85 66 2 102 67 BEE 25312536 ~111 — — Bl 0 #Y RHE 710547184
86 66 2 102 67 BEE 25312536 -64 — — Bl 35 Y - HZE103%71,84.85
87 66 2 84 42 BEE 231235 -2 — — Bl 42 Y - 10557184 X1
88 66 2 78 43 BEE 253111 O BABARR -47 — — Bl 31 Y RHE H7710,;%71,84,85
89 66 2 — = BEE = - = - - - Y - #7710,1%71,84,85,88 | O
90 66 2 116 58 HE= %311 QBB -47 — — a] 58 Y — H7510,%71,84,85,88
91 66 2 116 58 BEE NI D FARART— %40 -30 — — a] 58 Y — H7510,;%71,84,85,88
92 66 2 116 58 BEE NI D FARART— %40 -6 — — a] 58 Y — H7510,;%71,84,85,88
93 FUHR 66 2 116 58 BEE NI O RARART—%38 0 — — Bl 58 #Y - #7710,1%71,84,85,88
94 BRESR 66 2 64 32 BEE NI D RARART— %37 -30 — — Bl 32 #Y - H7710,1%71,84,85,88 | X1
95 BIEXR 66 2 84 42 BEE NI D FARART— %40 -6 — — Bl 42 Y - H7710,1%71,84,85,88 | X1
96 BIEXR 66 2 84 42 BEE NI D FARART— %40 -4 — — Bl 42 Y - H7710,1%71,84,85,88 | X1
97 B 66 2 64 32 BEE JIOBARART— %39 -3 - — a] 32 Y - H7710,3%71,84,85,88 | X1
99 AR 66 2 250 125 BEE F41-%43 -104 — — Bl 125 #Y - EZi2
100 AR 66 2 250 125 BEE F41-%43 -80 — — Bl 125 #Y - EZi2
101 =HXR 66 2 86 43 BEE F4—%42 -24 — — Bl 43 Y - EZi2 X1
102 IR 66 1 32 32 BEE F43—-%44 -8 — - A1 - Y - EZi2 X1
103 IR 66 1 32 32 BEE F43—-7%44 -8 — - A1 - Y - EZi2 X1
104 EIRER 66 1 - - BEgE - - - - - - #Y - 12 <
105 Bithig 66 2 250 125 g Z43—~F15 -47 - - 2l 125 HY - HE12
106 Btz 66 2 182 91 HE= FE43—-F15 -21 — — a] 91 aY — HEE12
107 B 66 2 182 91 BEE Z43—-%15 -12 — - A #3 - Y - EZi2
108 B 66 2 182 86 BEE Z43-%15 -12 — - A #3 - Y - EZi2
109 B 66 2 182 91 BEE ZE43—-%15 0 — - A #3 - Y - EZi2
110 [RRT 4R 66 2 60 30 BEE F43—%45 -27 — — Bl 30 #Y - EZi2
111 NRZ R 66 2 182 86 BEE 435546 -9 — — Bl 96 Y - EZi2 X1
112 66 1 — — BEE = - = - - - Y - EZi2 <
113 66 2 64 37 BEE ZE41—%49 -44 — — Bl 20 Y RHE EZi2
114 66 2 130 72 BEE ZE41—%49 -41 — — Bl 58 Y - HF12,:%113
115 66 2 130 65 BEE 41548 -3 — — Bl 65 Y - HF12,:%113
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116 HEHR 66 2 64 36 BEE Z£49—%51 -28 — — Bl 28 Y - HF12,:%113

117 HEHR 66 2 64 32 BEE 249250 -7 — - A #3 - Y - HF12,:%113 X1
118 HEHR 66 2 64 32 BEE 249250 -7 — - A #3 - Y - HF12,:%113 X1
119 EIRER 66 2 - - BEE = - = - - - #Y - HEnEN3 |0
120 —FR 66 2 64 36 HE= 349751 -21 — — a] 28 Y — HFE125%113

121 oLt 66 1 32 32 BEE 51252 -13 — - A1 - Y - HF12:%113 X1
122 BB 66 1 32 32 BEE 51252 -13 — - A1 - Y - HF12:%113 X1
123 AR 66 1 24 24 BEE 252253 -2 — - A1 - Y - HF12:%113 X1
124 LEHR 66 1 58 58 BEE 254255 -39 — - A1 - Y - EEn X1
125 FERR 22 1 - - BEE = - = - - - - - - e
126 FERR 22 1 - - BEE = - = - - - - - - e
127 FERR 22 1 - - BEE = - - - - - #Y - 12 < e
128 FERR 22 1 - - BEE = - - - - - #Y - HE12 < e
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1 ERFEBRT 66 6.6 3 52 52 BEE — 33 - Fa#2 - AY = HEs [J
2 IBFIZEER 66 6.6 1 19 19 BEE - 1 = Fa#2 - — - - 1@
5 BEEER 66 6.6 3 66 66 BEE — 63 - Fa#2 - AY = HEs [J
6 EREER 66 6.6 2 57 57 BEE — 57 - Fa#2 - AY = HEs [J
7 KRILEBRR 66 6.6 3 52 52 BEE — 49 - Fa#2 - AY = HEs [J
8 HEEER 66 6.6 3 52 52 BEE — 44 - Fa#2 - AY = HEs [J
9 HEZEEM 66 6.6 2 33 33 BEE — 33 = Faj#2 - AY — HEs [ ]
10 BESEER 66 6.6 2 47 47 BEE — 47 = Faj#2 - AY — HEs [ ]
11 BAZEER 66 6.6 3 47 47 BEE — 42 - Fa#2 - AY = HEs [J
12 ZREB 66 6.6 2 14 14 BEE — 1 = Faj#2 - AY — HEg k21 [ ]
13 ML EEH 66 6.6 1 19 19 BEE - 8 = Fa#2 - AY = Hs 1@
14 LHEER 66 6.6 3 33 33 BEE = 7 - Faj#2 - AY — H78 3%26 [ ]
15 B EER 66 6.6 3 42 42 BEE — 12 - Fa#2 - AY - #758,1%26,27 [
16 66 6.6 2 16 16 BEE — 15 = Faj#2 - AY = H%:8,1%26,27 [
17 66 6.6 3 45 45 BEE = 0 - Faj#2 - AY = H%8,3%262731 |@
18 66 6.6 3 57 57 BEE = 2 - Faj#2 - AY = H%8,3%262731 | @
19 66 6.6 3 52 52 BEE — 47 = Faj#2 - - = = [ ]
19 IS EER 66 22 2 - - BEE = - = - - - - - <
20 KEEB 66 6.6 2 38 38 BEE — 35 = Faj#2 - - = = [ ]
21 FEEER 66 6.6 2 33 33 BEE — 33 = Faj#2 - - = = [ ]
22 MEEER 66 6.6 3 26 26 BEE — 16 = Faj#2 - - = = [ ]
23 EBEBR 66 6.6 1 14 14 BEE — 13 — Fa[#2 - — — — 1@
24 SUEER 66 6.6 3 57 57 BEE — 50 = Faj#2 - - = = [ ]
25 BVEEER 66 6.6 2 47 47 BEE — 47 = Faj#2 - - = = [ ]
26 REEER 66 6.6 3 42 42 HE= — 1 — Fa#2 - — - - [J
27 LiREER 66 6.6 3 42 42 BEE = 0 - Faj#2 - - = = [ ]
28 FBEB 66 6.6 3 38 38 BEE — 17 = Faj#2 - AY — EZi10 [ ]
29 FREEEBH 66 6.6 3 38 38 BEE — 22 = Faj#2 - AY — EZi0 [ ]
30 MR B 66 6.6 2 38 38 BEE - 33 - Fa#2 - AY - HIs [J
31 EHEEH 66 6.6 2 38 38 BEE — 21 = Faj#2 - AY — HE103%71 [ ]
32 BEEEER 66 6.6 2 38 38 BEE — 30 = Faj#2 - AY — HE103%71 [ ]
33 REZEE/R 66 6.6 1 19 19 BEE — 13 = Faj#2 - AY = HE103%£71 1@
34 WEEM 66 6.6 2 16 16 BEE - 13 - Fa#2 - AY - £FE10 [J
35 BREEH 66 6.6 2 14 14 BEE — 12 = Faj#2 - AY = EE103%71.84 |@
36 BEAEEM 66 6.6 2 12 12 BEE - 11 - Fa#2 - AY = H710,;%71,8485 |@
37 BIELER 66 6.6 2 14 14 BEE — 14 - Fa#2 - AY = #7710,;%71,84,8588 |@
38 BIFEERR 66 6.6 2 14 14 BEE — 13 = Faj#2 - AY — H7%10,;%71,84,8588 | @
39 BEEER 66 6.6 2 19 19 BEE — 16 = Faj#2 - AY — H7%103%71,84,8588 | @
40 BHEEM 66 6.6 2 12 12 BEE = 8 - Faj#2 - AY — H7%103%71,84,8588 | @
41 AN = 66 6.6 2 28 28 HE= — 17 — Fa#2 - HY — EE12 [
42 B 66 6.6 3 42 42 BEE = 2 - Faj#2 - AY — EZi2 [ ]
42 5 66 22 1 — — BEE — — — — - AY — EZi2 <0
43 66 6.6 2 33 33 BEE — 16 = Faj#2 - AY — EZi2 [ ]
43 ARXEBRR 66 22 1 — — BEE = - = - - AY = EZi2 <
44 DI EER 66 6.6 1 2 2 BEE = 0 - Faj#2 - AY = EE12 1@
45 BT E BT 66 6.6 3 26 26 BEE = 0 - Faj#2 - AY — EZi2 [ ]
46 NREEBR 66 6.6 1 7 7 BEE = 0 - Faj#2 - AY = EE12 1@
47 W EBRT 66 6.6 2 16 16 BEE - 0 = Fa#2 - AY = EZi2 [J
48 66 6.6 2 28 28 BEE — 25 = Faj#2 - AY — HFE12%113 [ ]
49 66 6.6 1 7 7 BEE = 7 - Faj#2 - AY — HFE12%113 1@
50 gl 66 6.6 1 4 4 BEE - 4 = Fa#2 - AY - HE12%113 1@
51 —FEBH 66 6.6 1 2 2 BEE = 0 - Faj#2 - AY — HFE12%113 1@
52 HABEER 66 6.6 1 1 1 BEE — 0.9 = Faj#2 - AY — HFE1253%113 1@
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55 LHEBR 66 6.6 1 4 4 BEE = 4 - Faj#2 - AY = EEN 1@




